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SECTION—A / 3l / 3l /| H—<aTgMM [ S—WT

Choose the correct answer

0% TEICH! AR ST :

o e (RS :

4 feFmrre wrrE = g

HE IR G :

%ﬂ}ich one of the following is a non-terminating repeating
decimal? . . :
S (OO M=o i ?
R o Frafit (eefirs i ?
TEE = Gﬁﬁm%ﬂ% EICRIEREICE
frfafaa & & BF-T1 @ el TvweE TEw 37

3 7 64 124
4. 8- ® 8o & 2se 4 25
/2. The product of the zeros of x% —15 is : | 1

X% ~153 *FIVA R A
x? — 15~ SRR T @
x2 —15 T4 wforg st TesTEmaE sEE
%2 b 15 % Y[ATh! 1 A% &
y/ 15 (b) 15 () V15 (d -15
/ Consider the following pairs of linear equations :
(i) 3_x +2y =5; 2x‘j- 3y=5
(i) 2x-3y="T; 2xi;3y =8
Choose the correct alternative. 1
(@) The pairs in (i) and (ii) are consistent.

(b) The pairs in (i) and (ii) are inconsistent.
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(c) The pair in (i) is inconsistent, whereas the pair in (ii) is
consistent.

(d) The pair in (i) is consistent, whereas the pair in (ii) is
inconsistent.

T (AT NP @REPRD! s A1
(i) 3x+2y=395; 2x+3y =35
(i) 2x-3y=7 2x-3y=8
¥ Rewcor AR Sfered |
(@) (i) S (i) I QRIS |
(b) (i) = (ii) I (TRCILIAR PRI |-
C e) (i) T PRI, 77 (i) I CIRCHT A |
(9 ()3 IATH! esr, % (i) 3 CﬂﬁtﬁTW\ﬂtﬁl
, ficars LA SRR eI RTeT e :
i (i) 3x+2y=5; 2x+3y =35
(i) 2x-3y=7; 2x-3y =8
W [Fab @R 718 |
(@) (i) G (ii)-9F (ST TS |
(b) (i) 9% (i)~ CSTSIGE SRS |
(c) (i) 97 ceEreI SPRsTe, 7 (ii)- tﬂ(ﬁ]@ﬁ’i\ﬂi‘il
(d) (i)-a3 eI oS, {73 (ii)-97 CHel, SPirS |
TG T@Rk FHHYER S TERE! A
() 3x+2y=95; 2x+3y=95
i) 2x-3y=7, 2x-3y =8
i et e g |
(@ (i) 3R (i) 7 TR @EEE|
(b) (i) I (i) T T TER @R |
(o) ()T T @Ry, T (u)ﬁarm@wrmm -
(d), ()T T wreEmE, e () ST e

.
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( 4 )

1 e w1 1 R At

() 3x+2Yy=95; 2x+3y =35

(ii) 2x-3y=7; 2x-3y =8

wd T gfi)

(@) ()3 (i) 2R gm G &)

(b) (i) ¥R (i) AT g 26T B

(c) (i) < ™ AT & FETH (i) F LW T4 B
(d) (i) < F™ TG R SE(H (i) F W @@ B

/l‘he 30th term of the AP 10, 7, 4, ... is
10, 7, 4, ... ™A 25R80%@ 30w M5 2A

10, 7, 4, ... 54®3 2A5feBa 30w =M 2z
10, 7, 4, ... gFga simfafy 30t fem s
10, 7, 4, ... Gt &t =1 30aT 92 B

(@ -67 y« T (c) -87 d -97

}/Let ABC be a triangle such that AB=6VY3 c¢m, AC =12 cm
| and BC =6 cm. Angle B is

| ABC fag&d AB=6V3 cm, AC =12 c¢m 3% BC =6 cm. B 30
|
25 : '

ABC fagtes AB =63 cm, AC =12 cm &% BC =6 cm. B Gl
= '

ABC ¥m@f@amA AB =6V3 cm, AC=12 cm M BC =6 cm.
B @911 <A™

ABC fyw # AB=6Y3cm, AC=12 cm ¥R BC=6cm 7,
a’tﬁWBmm@n

(@ 120° (b),/90° . () 60°

(d) 45°

B lg—GMIZIB [ Contd.
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7The distance between the points (0, 0) and (-8, 6) is 1
(0, 0) B (-8, 6) [ TN TE[ 7qg A |
(0, 0) =% (-8, 6) R qioa Wy 1% ==
(0, 0) 3T (-8, 6) fo=l AHAM TSRA THARAT =™
A forgati (0, 0) 3k (-8, 6) F AT g 2

_ylo (b) 8 ") 6 @ 2
7. Which of the following is true? 1

(@) The value of tan A is always less than ‘1.
(b) The value of cotA is always greater than 1.
(c) sin® =—g— for some angle 6.

(d) secB= 1—52 for some angle 6.

TR (IO 39T ?
(@) tan AT H WE 19OF 3 |
y cot AT T H 19S(F Tl |

(c) @Il (@19 69T sinb =

mls w'm

(d) QT I BT A secb =

@517{13 ? s °
il - JobAssam.in

(@) tan A-&3 T4 577 1 cwc&ﬁr

(b) cotA-aF W AT 1 (VTP T |
(c) mmqemw51ne_g
(d) @W@I‘TB@WSCCB-—IS—
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( 6 )
TREMH q1e §2?

(@) tan AT w1 et 1 frgs 3
(b) cot AT T ewEst 1 faggg e
(c) e @' 6 o sinf = 3.

(@) we @ 6 arEm sech = 12

Frfafaa & & BF-w wd 7

(@) tan AW WH W 1 ¥ %1 B 2

(b) cotAETWﬁH%HlﬁH%T?HT%!

(c) o = 6 % T sin 6 = 2 2 B

(d) Fereht %m0 % fre sec6 = 12 B B

/ The angle of elevation of the top of a tower from a point on
- the ground, which is 15 m away from the foot of the tower,

is 60°. The height of the tower is

bl W AR °[1 15 mW‘ﬁGWu‘lﬁﬁ’ﬁ W@@tﬁﬁ%m
@19 60° 2'7F T Twwl 277

3 T MY (W 15 m TR TS A 1 Ry o vy Nk
o @19 60° 2(F TS THO! 23

TR AR IR FRIFEE 15 m TRUTEE TEE 9EE. R eRRwE
aanﬁ@h@’mmmwmzmﬁﬁﬂmw

ot F T forg A S F R-Rg R 15 mog R, WRR ¥ R s
F97 60° | HHR A =g Brf

@ 15m (b)) A5¥3m (g %m @ 30Y3m
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9,/A circle can have parallel tangent(s) at the most. 1

. GBI 999 I [ ____ O STIEA =opE AR 21T |
aﬁw?ﬁ@ﬁ__ﬁwwwfmnmm|
B g i &t T At gt 9w g |
o g i @ ot wi-tand & wehd! & |

(@ 1 y/ 2 (c) 3 o (d) 4

10 The deﬁree measure of the angle at the centre of a circle is 1.
The area of the sector is 1

359 (TS (IR R 1, JEFIOH FIfEA T

e @ @ea Bl 1, Jeeefos il ==

gty frears Sfy BRE @' Rf '@ 1, SERi ssiEn S
o 96 % F3 F wo g 1 faft @, @ sen Peaws el BT

2

. 2 2
2 L L o
(a):. 71 i T e Tagve + - @780

where r is the radius of the circle.
TS r 351 TSGR TP | '

@A e J3od AP |

S 1 o1 s e e

75t r 39 1 B B

y/ The volume of a sphere is 28871 cm°>. The radius of the
sphere is | 1

<1 (AT RS 288 1 cm . CTFRICR TIPTY 2

3 TR e 288 1 cm. (TR TP 2o
8 g A 288 cm®. JR W G T
et Tirer @1 TR 288 1 cm | e i fis R

(@ 2 cm (b) 4 cm y-G cm (d) 8 cm
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( 8 )

12 The probability of an impossible event is
9B SPTEY Yo SISl 2'H
36 SPTIA IO TSI 2al
LEEEIRIERS IBIHERS BicEioiEs o1
A T hit Wi B &

(}) 0 (b) 0-25 (c) 05 > (d) .1

\--

SECTION—B / J—iql / —>itq / @—aRM /| |@—um

13 Find the HCF of 96 and 404 b
Hence, find their LCM.

2
(e TP “mhe 96 ¥ 4043 9. . @. TRiEd | TR o@
FrEes 9. 71, @, Shyed | ;

AR BemPead i @@ 96 R 404-9) 9. . @ @@ @
99 (ATF OHS 7. N, 8. (@7 & |

{r e e st 96 T 404 1 3. on. . R A
R 3. 31 . R - :

-amgm@gﬁfﬁm%aﬂt4o4mHCFm“ﬁﬁqmﬁmm
LCM T Hifvrg) » , '

y the prime factorization method.

. ]

14. Half the perimeter of a rectangular garden, whose length is
4 m more than its width, is 36 m. Find the dimensions of
the garden.

2
QWWWW%«% m @R | TR R iy 36 m.
Aforereea T, o Ry

aﬁfﬁwwmmmﬁuwmar m @M | 97 ARNR ks 36 m. -
IR T, o fRefy 3y | |
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( 9-)
AH IR foar St MeaRen TarRfigs 4 m afkm ) 3f 9fii faf
GEHaT 36 m. faER SR Mo R TEraE! g

TF AAIER 97, frEeh e, ?ﬁg.lﬁﬁcl'maﬁﬁaa% =1 3fafem
36 m ¥ =T & dmnd 7@ H

Downloaded from JobAssam in

15, The 11th term of an AP is 38 and the 16th term is 73. Find the

/ common difference. 2
: amwzfﬁf‘all—amsswm—ﬁmm YR S%q e
341 |
3B AT Ao 1199 oW 38 @33 1697 WG 73. YR T@q [
Al | _
AR wEgfa S 11 & femen 38 @ m ltsﬁrﬁaﬁn?s TR
wReTE! fg | .
ot TR A9t #1 1141 vg 38 & Au1 1641 W 73% a‘tmwﬁm
(common difference) T grTI? '
16. Find thc point on the x-axis which is equidistant from
(2, -5) and (-2, 9). 2
(2, -5) @iF (-2, 9) f% PR WW X-SPF GoqS wﬁ’mﬁcm
1
2, —5) @R (-2, 9) R 76 (AT WECT x-BCFA T AP Refo ﬁc{a
AN
(2, -5) I (-2, Q)ﬁfﬂﬁﬂﬁﬁﬂmwﬁfﬁmﬁxﬂﬁzﬁﬁw :
g ferera g |
x-98 | a8 g 710 AR S (2, -5) 3R (-2, 9) W FHGTY B
_ BIQ—GM/21B [ Contd.




( 10 )

/Yf. If sinA= %, calculate cos A and cth. (A is an acute angle)
1 sin A = 2, cos A W% cot A fef 31 1 (A B ’IW"‘I)
T sinA-= %, cos A &% cot A f3eft 331 | (A @16 SPHCFI) | _
I sin A = 2, cos A 3T cot A @ R | (A 311 B @' @)

ﬂﬁ_sinA:% ¥, @ cosA N cotA T AA TRFRE RTE (A T
AT ¥)

18. Evaluate /TR ffa 31/9m fefa wca1/am fega/am Frefere -
_ sin 30°+ tan 45°- cosec 60°
sec 30°+ cos60°+ cot45°

19, 1f tan2A = cot(A -18°), where 24 is an acute angle, find the
value of A.

M tan2A = cot (A -18°), A7 T Fefy =41 1 24 BT STHCFI |
T tan2A = cot(A - 18°), A-«® T Fefl 3T 1 24 @7 PGP |-
I tan 24 = cot (A -18°), AR TR Rg) 24 3 99 @ @'

M tan 2A = cot (A -18°), &l 2A T ZFem R, Ay A HHE 149 $hifd)

20. Prove that/ﬁmij’r CU 211 TN /AT e R /R i s
CoOSA '1+sinA
+ =
l+sinA cosA 2SC_CA

Ais an acute angle, : 2
A ST ST |

A 36 PRI |

A 3 998 @' @'

A TF =TT §)

B19-GM/21B
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/21/ A bag contains 3 red balls and 5 black balls. A ball is drawn
at random from the bag. What is the probability that the ball

drawn is (a} red and (b) not red?

G4 (IAIS 301 961 AR 5B e 489 I KR | (HHIRAR 4 @B
qYfeeFeIca 51 25 | 51 I (@) 81 6T (AR WF (b) 981 I8 AR
ST [ 2 _

a3 afre 3f6 T @ 5 e wen @ R B (w97 =
qeFeIcd BT 2o | B I (@) 7R q€ RSN G (b) e 18 ] ZSUH
TR F© 2

TR ST WA 3 T e AR U 5 MEW 7 € | SeimE qeed 4
o8 o TETE | (@) TS TS SEE AR/ (b) T M S sneraEmE
Fh?

w 4§ 3 A R 5w W A 4 A A T R ageen P
STl & | Sl WTRieaT F41 § 7% 78 (a) e & 3R (b) A1 T 7Y

Downloaded from JobAssam.in

SECTION—C / *—>41 / s—st /. T—aTERN [ T—WTT

LZ}Prove that V2 is irrational.
o1 91 (N 2 SRR |

o I T V2 FARCT |
HRAA @ & V2 3 TEeea )

forg ifSie T V2 w suforg @& B
. Divide the polynomial p(x) by the polynomial g(x), and find

the quotient and the .remainder :
p(x) I q(x) IO 239 W I SloFe SIF ST fefy 9

- p(x) ﬁ?«ﬁm q(x] I22mfG 2|l S8l w, G38 TIGe 8 wm fRefy e -

3
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12

p(x) T Mt g(x) foeme st T 3 T S T g
FETR p(x) Bl g(x) @ W01 A 2 TR a9t v T I :

p¥)=x3-3x% +5x-3, g(x) = x2 -2

24. If we add 1 to the numerator and subtract 1 from - the

- denominator, a fractio_n reduces to 1. It becomes +

5 if we only

.add 1 to the denominator. What is the fraction?

AR TS 1 el I A 2= o[ 1 Rt e, 9B ey = 1.
I 3% wFe zachrecs 1 mﬂﬁ,mimﬁ%ﬁmwm%?

W SN @ 1 @6 IR GAR 29T (AT 1 Rz 2f8, 936 saey =3 1
S i sy Z@ s 1 ol IR, O ofb 7 11 sanens 2

IR S T 1@ T e R 1 TH@ 4, AR SRR
1 I 9™ St gk e 1 @ e F H I 2| X v
@r|rR 11?

IR WA IS amw A Y 1913, @t B 1 9 sew o ) 3R =
- FEd WA 1@:3%,@%%@31?&%133&?@1%?

}{Solve/ﬁmmﬁi/wmm/mmﬁﬁmﬁﬁﬁq{ 3
% V2x2 +7x+5V2 =0 '

26. The difference of squares of two natural numbers is 180.

The square of the smaller number is 8 times the larger number.
Find the two numbers.

_ 3
1 Tl R 3904 ROMRFT 180. 579 SAOR 39 ©IeAh 8 091 2,

R o1 ety <6411 |

T TR SRR Wl Reoma 180, calb kb 3o wuha 8 @ =03,
LK) e fefa e o

AR SRRty wieRf e 180, geRM srRmf wion YRA s
8 FM Tt | s A g

2 S T % @l @ sk 180 31 O de T @ wew = 8
T R 1 3wy wm it :

B19-GM/21B o [ Contd.



( 13 )

27. In what ratio does the point (-4, 6) divide the line segment

joining the points A(-6,10) and B (3, - 8) internally? 3
A(-6,10) 9% B (3, -8) ¥ M @ANeT (-4, 6) R & wrporres
TEReE I3 ?

A(-6,10) @ B (3, -8) R i @Rewe (-4, 6) By § wgme
TEeE I ?

A(-6,10) 3R B (3, s)ﬁrqh‘fﬁmﬁ:rmar@?@éﬁ@‘r( -4, s)ﬁrcﬁmm
TIUTEAE THI?

firg (-4, 6), fargait A(-6,10) 3R B (3, - B)aﬁahsﬁar@r%@maﬁamﬁm
mﬁmwﬁﬁm&am%? -

28. Find the sum of the first 22 terms of an AP whose common

diffcrencc is 7 and the 22nd term is 149. 3
G5 zfsﬂ:‘a YR S@q 7 S 2299 2ol 149 i’tﬂ?&'ﬁ A2 2261
g CAIaFe e 41 1 _
a3 A A TR Seq 7 WR 20wy 5 149 (o &g AW 226
o7a (ISP f1efT ¢l |
MWWWW?MM&W 149:111fraa1
3 Fify 22 feemf asmET g | -
:manm&e‘lﬁwm 22qﬁmqﬁﬂwﬁﬁqﬁmﬁvﬁm 7 ® ¥R
ooafug 14981
29. In an equilateral triangle, prove that three times the square
of one side is equal to four times thc square of one of its
altitudes. 3
mﬁﬁmmmﬁﬁﬂaﬁw#eﬁﬁsﬁmwqusﬁ
BB ST |
B, mqmmaﬁwmmw«ﬁ&ﬂmmmw
N 053 BRSO ST |
g .
[ Contd.
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( 14 )

e @e R A T STt eyt A et i
SHEAST A AR S i AFHH THE S

frelt waTg Fge , frg BT FF R e & 0 @ R S T
fideiar % ot % T X 3w A R —

}E{. Find the wvalue of K if the points (8,1), (K, -4), (2,-5) are
collinear. 3

(81, (K, -4), (2 - 5) Ry TR exeatim ' K 1 I Fef 41 |
(8 1), (K, -4), (2, - 5) Ry foifb wecadm =1 K-« 7w faefe 3 |
8 1), (K, ~4), (2, - 5) fo=a witemmn @ gt smieen K 7 7@ foga )
Kmmmﬁﬁqa&ﬁ-—gi(&n, (K, —4), (2, -5)dtEt &1

31. From each corner of a square of side 4 cm, a quadrant of
a circle of radius 1 cm is cut and also a circle of diameter 2 cm
is cut as shown in the figure below. Find the area of the

rcrﬁaining portion of the square (Take n :2—7?-) :

O IS (19T WA 4 em A o1 HE o6 7R R 1 om
' m@ﬂﬁwaﬁmaﬁ@mm,wzgmwaﬁ@@ﬁﬁ

mz@mmmﬁ@uwwww(n:%%qmﬁm:

Aea B G W 4 cm T @ WO ARB @ 1 em
TP @I T I @ (D A TR 2 om IR

qwq@@@z%memmlaﬂwﬁaWmeﬁiﬁﬁw
(n=22 27 @)

7 ' I
W@Wﬁ.ﬂﬁ?ﬂ?{qﬁﬁﬁﬂmmﬁA cm JERR AR wiesmf @
TAS%E 1 cmu’@aﬁﬁaﬁ%@wﬁa’@ﬁ%wmwwﬁz cm
@ﬁﬁﬁﬁ%@qm’mwmﬁﬁmwmﬁwﬁﬁ@

(m = -272€H=|ﬁ3u) :

| B19-GM/21B . | ®& 9 Contd.

]



(15 )

4 cm Y1 9 TF 91 % y&% w4 9 1 cm B T g9 w1 ww-wgei
127 T £ q 9 ¥ 2 cm =@ F T A | FE T R S B AR aefa

ﬁaﬁmw%mﬁ:mummmmm(n:%mﬁm:

B

A

C

"Downloaded frdm JobAssam.in
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SECTION—D / §—>I4 / =1 / H—aTerm [/ 9—%T

r of linear

2, Solve the pair of equations by reducing them to a pai
4

/ ‘equations :

o AR AR SRR FATE IR ST 1

fraTe SR (aTEl CARS NI T e A A

e GHAYTE TGl SR TS TR e AEger T
ﬁmﬁ%mmﬁwmﬁgﬂﬁmmﬁwz

S & 1 et
x-1 y-2

g @
x-1 y-2

ezium with AB||DC. E and F are points on

33. ABCD is a trap
ively such that EF is

non-parallel sides AD and BC respecti

parallel to AB. Show that
' AE _BF i

ED FC i
[ Contd.
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(16 )

ABCD @FWABHDC.WWWADWBH 8IS T
E 9F F 701 Y @A @1 251 W0 EF 1% AB S | (YA @
AE _ BF
ED FC’

ABCD GPfeEIcTd AB||DC. @3 WM™ a2 AD @t BC-a3 Ti@

FHEE @R F 7 Ry awerng (TSA 2 ACS EF 932 AB SEAH |

e @@ é-E—=BF

ED FC
ABCD 3fufsamfy AB||DC. af frmfe smaf® AD IR BCH wmma
Wﬁ&EﬂTﬁFqﬁqﬁﬁﬁ@wﬁwmwﬁ EF 3 AB fom sm)
i Rl L BF T

ED FC’ __
ABCD & wmem @ R AB||DC %1 smwit ywisft AD 3l BC w

m:ﬁgEaﬂszmﬂa%%EFgmAB%m%lmﬁ
AE BF |

— =_"_3
ED FC%

. 34. A 1'5 m tall boy is standing at some di

building. The angle of elevation from his eyes to the top of the
building increases from 30°. to 60°

as he walks towards the
building. Find the distance he walked towards the building. 4

'S m €4 9 & 30 m ¢4 WHFRR o1 Ry e R oz Wi |
@éwﬁﬁm@ﬁwmwmﬂmﬂﬁﬁwwww

T (@1 30°aﬂ3160°tamu®6<ﬂmﬁmwmwmﬁ=m
37 | |

stance from a 30 m tall

'S m =771 @36 (07 30 m Twem WoIRRN (a Reg @y Wiy Wi |
Ol wuferefon fice &5 Mew % ik oW W (3eE SRR A

B @19 30° (T 60°CS (T T | ORIy foe &b Tewm g
frefa 3 | RS

I'5 m TS 9/ g 30 m il R RifceRwm @ T T 2
faf i Rty Prftaflm S @' AR s s 30°
ﬁmu60°maw1ﬁﬁﬁ%ﬁmwmqmﬁ§m

B19-GM/21B i, [ Contd.
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1'5 m @1 Tk @eH 30 m I T ¥ 4 FB gt W Tl }| 59 =@
S e 6 AR T R 9 3wl afE A W F R @ I | 30°
¥ 60° B W 2| SR ¥ w7y i iR e b qe were T R

35. Prove that the tangents drawn at the ends of é diameter of
a circle are parallel.
2 T4 (¥ JBI IPR T4 B P TG |
21 T (§ ST IR AW HI1 P ST |
mwﬁﬁ@#ﬁwmﬁﬁammmmqﬁam%ﬂ
ST |
mﬁﬁqﬁﬁmgﬁ%waﬂm%ﬁﬂm@%ﬁﬂiwﬁmm
Bt 8

36. Construct a triangle of sides 4 cm, 5 cm and 6 cm, and then
a triangle similar to it whose sides are % of the corresponding

sides of the first triangle. (Write the steps of construction.) 4
4 cm, 5 cm W 6 cm I GBI ATH W@ T U OF PrRS W
e mﬁaﬁﬁwmwmwﬁwmwﬁw

2 281 | (T4 R il 1)

4 cm, 5 cm 9R 6 cm AW I GTT AT I GIR TRAR G TP
of} fargw R 0 T ARG oo frgaite s RehE 2 g1 73 )

(TR ormef )

4 ¢cm, 5 cm ¥R 6 cm @AM AFE JRETRAgm g 3R 97 =
e WA 91 A8 Enf-aym 3nfls Wi srarfaer afy smafaumi
Hrad m@rﬁ‘mﬁ%waﬁl (3nfeT srmerE! for 1)

4 cm, 5 cm ¥ 6 cm gwaﬂaﬁqmﬁgaﬁmﬁmaﬂtﬁﬂm
quEy TF 2 Pye A @ difs, R yend R g e 6t g yenei
A 2 it g (v & =i 8 forf )
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SECTION—E / ®—q / &—Ixl (.g_wﬁ | S—9m

37. A toy is in the form of a éone of radius 3-5' cm mounted on

a hemisphere of same radius. The total height of the2t20}’ is
15:5 cm. Find the total surface area of the toy. (Take nt = -—;)

D1 “[S TP APNT Bl SHLAFTF €7 35 cm AFIIS B R
MS | [EABR TP Twer 27 155 cm. [EAIOR o ~el fefa <<
(=2 o ) |

T T IR TIPS b SR B 35 cm APTHTS @
KT A 58S | ety (i Twel =@ 155 em, CEIA 6 oFife
ﬁﬁqmn(n=272ww) '

L85

ﬁ@gm@a’wﬁqﬁﬁm\@ﬁ@ﬁw 3'5 cm @A T Ty
SRS AR | U TR e SEE 155 cm. P T g

TeesordY fagH | (n=27-2—'5>r:1=|ﬁ3n)

T faef 1 B 3:5 cm 9 T WE F R W R, W
AU W AR 31 @ Raet gt 391 155 om 2

ot g e T i) (n=2—7%a‘1ﬁm)

e a o
™ Raein =

Or / WI&J1 / @91 / &t / srerar

Metallic spheres of radii 6 cm, 8 cm and 10 cm respectively

- are melted to form a single solid sphere. Find the radius of the

resulting sphere. Also find the surface area of the new sphere. -
(Take & = %)

6 cm, 8 cm FF 10 cm LT ORI 4Tp3 cotreres At 1 g comers
mﬁwﬁnwcmmdﬁfmﬁnammcmﬁ

mﬁcfnwﬁl(n:%ﬁm)
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6 cm, 8 cm @ 10 cm JPICLR o 4199 CIFTF iy @Ifo o
I 0O 1 Zeell | T (oMeriod TP e et | 57est 1w coreraafd

Wﬁ‘ﬁ@l(n—.-——wm)

6 cm, 8 cm 3R 10 cm T@EN FHIM 9IFH R AT BEM HAE
MR o G ST ST | e g @ @ g | emd e gee
ﬁl‘g‘ﬁﬁfﬁﬁ@?l(n=-27—zmﬁﬂ) |

A 6 cm, 8 cm 3R 10 cm B a@ g ¥ 7 S Ae
I e T F1 319 Ten S0 ST 81 38 T2 e i B 3@ S|
mwﬁﬁmﬁémmmﬁmaﬁﬁm(n=2§?ﬁm)

The marks distribution of 30 students in a mathematics
examination are given below. Find the mode of this data :

Toq Oifeiere 30 & RE2 RrFe sfiee (kT wE9 (=R | @R R
L e 41
Meog SIeFm 30 & QAT SIS ST/ 2N TI7 7S TR | 9% TR

IR el el
Wﬁwmsoww&mm@mwm@

BT et | & @i S fig
30 franfiat grr it i when # ww g Qo7 AR R e ¥ 39 et
g1 WTH 375hi T Fgeh 14 T :

Class interval | 10-25 | 25-40 | 40-55 | 55-70 | 70-85 |85-100

a1 ST
1 ST _
o @<
7 3Tt

No. of students e, 3 7 6 6 6
RIGT >80T

RICGS 73307
FET ST

faenfefal % g
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